

ALITUB BASTIR DAURA

No = 64

19/ENGG04/010

Elect / Elect

Mat 104  $\rightarrow$  Calculus

① Int  $\frac{(11-3x)}{x^2+2x-3}$

Solution

$$\int \frac{11-3x}{x^2+2x-3} dx = \int \frac{11-3x}{(x+3)(x-1)} dx = \int \frac{A}{x+3} + \frac{B}{x-1} dx$$

with partial integrals

$$11-3x = A(x-1) + B(x+3)$$

When  $x=1$

$$11-3(1) = A(1-1) + B(1+3)$$

$$11-3 = 0 + 4B$$

$$8 = 4B$$

$$B = 2$$

When  $x=-3$

$$11-3(-3) = A(-3-1) + B(-3+3)$$

$$11+9 = -4A + 0$$

$$20 = -4A$$

$$A = -5$$

$$\therefore \int \frac{11-3x}{(x+5)(x-1)} dx = \int \frac{-5}{x+3} dx + \int \frac{2}{x-1} dx$$

$$\text{let } u = x+3$$

$$\text{let } v = x-1$$

$$\frac{du}{dx} = 1$$

$$\frac{dv}{dx} = 1$$

$$du = dx$$

$$dv = dx$$

$$\Rightarrow \int \frac{-5}{u} du$$

$$\Rightarrow \int \frac{2}{v} dv$$

$$= -5 \ln(u)$$

$$= 2 \ln(v)$$

$$= -5 \ln u = -5 \ln(x+3) = 2 \ln v = 2 \ln(x-1)$$

$$\therefore \int \frac{11-3x}{x^2+2x-3} dx = -5 \ln(x+3) + 2 \ln(x-1) + C$$

$$2 \frac{2x^2 - 4x - 35}{(x+1)(x-2)(x+3)}$$

solution

$$\frac{2x^2 - 4x - 35}{(x+1)(x-2)(x+3)} = \frac{A}{x+1} + \frac{B}{x-2} + \frac{C}{x+3}$$

$$L.C.M \cdot (x+1)(x-2)(x+3) = (x-2)(x+3) + (x+3)(x+1) + (x+1)(x-2)$$

$$2x^2 - 4x - 35 = A(x-2)(x+3) + B(x+1)(x+3) + C(x+1)(x-2)$$

When  $x = 2$

$$2(2)^2 - 4(2) - 35 = A(2-2)(2+3) + B(2+1)(2+3) + C(2+1)(2-2)$$

$$8 - 8 - 35 = 0 + B(3 \times 5) + 0$$

$$-45 = 15B \quad \therefore B = -3$$

$$\text{When } x = -3,$$

$$2(-3)^2 - 4(-3) - 35 = A(-3-2)(-3+3) + B(1-3)(-3+3) + C(-3+1)(-3-2)$$

$$18 + 12 - 35 = 0 + 0 + C(-2 \times -5)$$

$$10 = 10C$$

$$C = 1$$

$$\text{When } x = -1$$

$$2(-1)^2 - 4(-1) - 35 = A(-1-2)(-1+3) + B(-1+1)(-1+3) + C(-1+1)(-1-2)$$

$$2 + 4 - 35 = A(-3 \times 2) + 0 + 0$$

$$-24 = -6A$$

$$A = 4$$

$$\int \frac{2x^2 - 4x - 35}{(x+1)(x-2)(x+3)} dx = \int \frac{4}{x+1} dx + \int \frac{-3}{x-2} dx + \int \frac{1}{x+3} dx$$

$$\text{let } u = x+1 \quad \text{let } u = x-2 \quad \text{let } u = x+3$$

$$\frac{du}{dx} = 1 \quad \frac{du}{dx} = 1 \quad \frac{du}{dx} = 1$$

$$du = dx \quad du = dx \quad du = dx$$

$$= \int \frac{4}{u} du = \int \frac{-3}{u} du = \int \frac{1}{u} du$$

$$= 4 \ln u = -3 \ln u = \ln u$$

$$\therefore \int \frac{2x^2 - 4x - 35}{(x+1)(x-2)(x+3)} dx = 4 \ln(x+1) - 3 \ln(x-2) + \ln(x+3) + C$$

$$3 \quad \frac{1}{x^2+121}$$

Solution

$$\int \frac{1}{x^2+121} dx = \int \frac{dx}{x^2+121} = \int \frac{dx}{x^2+11^2}$$

$$\Rightarrow \text{let } x = 11 \tan \theta \quad \therefore \theta = \tan^{-1}(x/11)$$

$$\frac{dx}{d\theta} = 11 \sec^2 \theta$$

$$dx = 11 \sec^2 \theta d\theta$$

$$x^2 + 11^2 = 11^2 \tan^2 \theta + 11^2$$

$$= 11^2 (\tan^2 \theta + 1)$$

$$= 11^2 \sec^2 \theta = 121 \sec^2 \theta$$

$$= \int \frac{11 \sec^2 \theta d\theta}{121 \sec^2 \theta}$$

$$= \int \frac{d\theta}{11} = \frac{1}{11} \int d\theta$$

$$= \frac{1}{11} (\theta) + C$$

$$\int \frac{1}{x^2+121} dx = \frac{1}{11} \tan^{-1}\left(\frac{x}{11}\right) = \frac{1}{11} \tan^{-1}\left(\frac{x}{11}\right) + C$$